o ox+1
JF = = Sec 13-6: The Tangent Function
x-—9
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Find the Vertical Asymptotes of this Rational
Function: zeros of the denominator
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Find the zeros of this function (x-intercepts): (O™ == 0)]
zeros of the numerator. Y- inT = —( x7-
Graph the function y=Tan6
Use this Window: x:[0,47] y:[-10, 10] ] -

What is the period of
1 the Tangent Function?
What is the period of the Tangent Function? i — Z ]

What is the period of Tan6?
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What are the x-intercepts? Q[ 'ZT( Ur{ S_q_t L/U_

What are the Vertical Asymtpotes? ~ 5 37 T
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Leave Y1 = Tanx. GraphYz=Cosx. 54 - Sind
Cost/
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How is the graph of Tan6
related to the graph of Cos6?

Tanb has a VA whenever
Cos0 is zero.

Leave Y1 = Tanx. Graph Y, = Sinx. Sing
Tan? = Sos

o

How is the graph of Tanx
related to the graph of Sinx?

Tanx is zero whenever
Sinx is zero.

Sin(bx)

y = aTan(bx) = a(CosW)

a: If a<0 there is an x-axis reflection

I

b: The period of Tanbx = b
T

= period

VA occur wherever Cos(bx)=0

x-int occur wherever Sin(bx)=0



The Tangent function is graphed in the window 0 to 2x.
N pos
1. What is the period?
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2. What is the et/qaation W 5
of this Tangent Function?

y=- tan K

-

The Tangent function is graphed in the window 0 to 2x.
N~ o5
1. What is the period?
?T = T
Y

2. What is the equz;ion
of this Tangent Function?
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The Tangent function is graphed in the window 0 to 2x.
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v 1. What is the period?
e L =
i AL /7—
2. What is the equation
of this Tangent Function?
o

The Tangent function is graphed in the window 0 to 6x.
A= nNeg

y 1. What is the period?
! 2
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2. What is the equm
of this Tangent Function?
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y = Tan(26) Y =Taan
What is the period? Find three VA and three x-int. What is the period? Find three VA and three x-int.
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